
Lp. Pikietaż ⌀p [m] ip% H0 H1 H2 H3 Lp [m]

P1 14+266.75 0.80 0.52 106.75 108.29 106.91 106.99 15.26

P2 14+678.80 0.80 -0.57 108.55 110.05 108.81 108.71 17.56

P3 14+206.85 0.40 -1.17 107.70 108.41 107.74 107.66 7.21

P4 14+217.35 0.40 -1.13 107.46 108.31 107.51 107.41 8.28

P5 14+219.40 0.40 -1.17 107.56 108.34 107.60 107.52 7.41

P6 14+314.68 0.40 1.24 107.23 108.15 107.18 107.28 7.59

P7 14+355.00 0.40 1.24 107.73 108.82 107.67 107.79 9.69

P8 14+366.37 0.60 0.56 107.56 108.67 107.54 107.58 8.01

P9 14+728.76 0.40 1.30 109.11 109.83 109.06 109.16 7.92


